ELCE 2240 HOMEWORK #5 prob 1 solution
N. Cotter F13
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b) Calculate v;.

SOL'N: a)
The lower left 12kyl and 24ksz R's are
wn Paral,(e(. The upper right wire and
24 k2 are n parallel as well.

ks ||z ke = 12ka- 1|2 = 12ke- 2 = 8ke
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We see that +the 10ka (s (n parallel with
the |5Kk.

ok |[19 k2 = Sk 2]]3 =5k 6 =6bke
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We have +two squrq+e CirCL{H":, across the
2,1V source: one direuit (s the 2.5 mA
source, and the other circuit (s all the RS.
We may solve these circuits separately,
meaning we may ignore the 2.1V source.
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This s a V-divider-

vi= 2.\V-_G6kn = 2.lV- & :2,11/(3)
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b)
We have current divider formed by the

3A source and +the 155 and 100+205
on  the riy/r[:hcmd sude:
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By +the current divider formula
|

Ll ~ — 3A- 160+ 205 = =3A15n
\ + 1 ISsLAH105L+2052
V6 L+ 205L 15 S

or
Ll: ~3A. 152 =~ ~ 1A
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By Ohms law, we £ind v,:

V|:"l/~\' 105 = — 1oV



